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SECTIONB
Answer ALL questions. Write your answers in the spaces provided. o <
Russell wants to hire a cement mixer. ' :gf: » ‘E.E
He uses this formula to work out the total cost. = %
s B
number of . i E
—»{ multiply by 20 —» add 15 —»  total cost (£) R SSha
weeks 20 S
B o \g %
XS \)—» o’
Russell wants to hire the mixer for 4 weeks. :-; \8
He thinks the total cost will be less than £100 B §g
R ? \\\t////ﬂ :i
N i o
Is Russell correct? L S8
Show why you think this. S
N _J
(Total for Question 1 is 3 marks)
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( )
(@) Rob throws a fair coin once.
Write down the probability the coin lands on Heads.
(1)
N\ J
( )
(b) Write the following numbers in order.
Start with the smallest number.
(1)
04 031 0371 0.130 0.38
N\ J
. 3 2
Here are two mixed numbers 775 and 7z
( )
(c) Which of these two mixed numbers is greater?
Show why you think this.
(2)
N\ J
(Total for Question 2 is 4 marks)
J
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Mo has 5 hens in his garden.
12 kg of hen food costs £10.50

Mo knows 1 hen needs 1509 of this food each day.

-
Work out the cost of this food for the 5 hens for one day.

Give your answer to the nearest penny.

(5)
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(Total for Question 3 is 5 marks)
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Nazrin uses an app to record her sleep quality score.
She has this information for last week. 8
&
Mon | Tues | Wed | Thu Fri Sat Sun o
i &
sleepquality | o0 | g5 | 4 73 75 81 85 3
score &8
Nazrin thinks the range of her sleep quality scores for last week is less than 20
( )
(@) Is Nazrin correct?
Show why you think this.
(2)
- J
( )
(b) Show a check of your answer.
(1)
N J
(Total for Question 4 is 3 marks)
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S 3 is some informati

o | 5 Hereissome information about the test scores of forty students.
02029:9:9. 202000,

RN KRR

19000 %% X XK KK

KKK RHHRRR

test score Oto10 11t020|21to30|31to40

number of students 7 15 10 8

On the grid below draw a bar chart for this information.

(3)
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Steph wants to cover part of her garden with paving blocks.
The diagram shows the part of the garden she will cover with blocks.

The shape of this part of the garden has one line of symmetry.

All corners are right angles.

3m

1.75m

5m

9m

Paving blocks are sold in packs.
Each pack covers 10m?

Blocks can be cut and joined.

Work out the number of packs Steph needs to cover this part of her garden.
You must show your working.

(6)
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(Total for Question 6 is 6 marks)
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Kofi works in a snack kiosk.
Kofi has the following information about 90 items he sold yesterday.
item number of sales
ice creams 34
hot drinks 12
lollies
Kofi wants to draw a pie chart to display this information outside the kiosk.
( )
Work out the size of the angle needed to represent the sales of lollies.
(3)
N _J
(Total for Question 7 is 3 marks)
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8 Dionne sells comics online.
On Tuesday there were 56 orders from customers.
% of the customers used vouchers when they paid for their orders.
Dionne thinks 23 of the customers on Tuesday used a voucher.
-
Is Dionne correct?
Show why you think this.
(3)
\
(Total for Question 8 is 3 marks)
J
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9 Here is an accurate net of a cube drawn on a centimetre grid.

-
Work out the volume of the cube.

Remember to state your units.

(4)

(Total for Question 9 is 4 marks)
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10 Charlie is planning a new room in a hotel.
He has a diagram of the room drawn on a grid.

g <
g = Charlie needs to show a space for the wardrobe.
<
9| % The space for the wardrobe must
= OB
2 = « berectangular in shape 1.5m by 0.75m
m u « have the longest side against a wall
= - - be at least 2m away from the doors
z = « be at least 2m away from the bed.
s =
; 8 Draw a space for the wardrobe on the grid below.
m ()
> 0
window
-
8 ﬁ jEEEEEEEEEEEEEEEEEN
N
tc
2 3 :
~ ] :
s E ) bed
5 < .
moow '
Z E Il----l--------l----
: :
L 04)
> 2
1 Q
b (]
o 5 bathroom
O i
e
5 <
= &2 e ]
= I / e
’_—°| 2 / door
m.
Z E door
3 =
T
7 5 Key 1cm on the grid represents 50cm in the hotel room
= Z
——— Wa”
Z 8

(Total for Question 10 is 3 marks)
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11

-

-

(@) Write seventy percent in figures and symbols.

(1)

Ahmed works in a museum.

Last year there were six hundred and eighty thousand visitors to the museum.

This year the museum was closed for three months.

Ahmed expects the number of visitors to be 25% less this year than last year.

-

(b) Work out the number of visitors Ahmed expects this year.

(4)

1

»
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(Total for Question 11 is 5 marks)

TOTAL FOR SECTION B IS 42 MARKS
TOTAL FOR PAPER IS 56 MARKS
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